

$$2x^2 + y^2 - 2x + 2y + k = 0 \quad \text{معادله دایره} \quad 2x^2 + y^2 - 2x + 2y - k + 11 = 0 \quad 2x^2 + y^2 - 2x + 2y + 2 + 9 = -k + 11$$

$$\Rightarrow 2(x+1)^2 + (y+1)^2 = -k + 11 \Rightarrow x = -1 \text{ و } y = -1 \Rightarrow 0 + 0 = -k + 11 \Rightarrow \boxed{k = 11}$$

✓ (2)

۲- در صورتی تابع است که $x = a$ فقط یک جواب داشته باشد:

$$a^2 + fa = 2a + a + y \Rightarrow a^2 + a - y = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1 - 4}}{2} = \frac{-1 \pm \sqrt{-3}}{2} = -\frac{1}{2} \pm \frac{\sqrt{3}}{2}i \Rightarrow a = 1$$

$$a^2 - fa ; x \geq 1 \Rightarrow 1 + f(1) = \sqrt{5}$$

✓ (2)

$$|x+1| \geq 2 \Rightarrow x+1 \geq 2 \Rightarrow x \geq 1$$

$$x+1 \leq -2 \Rightarrow x \leq -3$$

$$a + 2(-3) \leq a - 2 \Rightarrow a - 6 \leq a - 2 \Rightarrow a - 6 \leq 11 - b$$

$$2(-3)^2 + b \leq 11 - b \Rightarrow \boxed{a + b \leq 14}$$

✓ (2)

$$3n - a \geq 0 \Rightarrow a \leq 3n \Rightarrow \frac{a}{3} \leq n$$

$$b - 4n \geq 0 \Rightarrow b \geq 4n \Rightarrow \frac{b}{4} \geq n$$

$$\frac{a}{3} \leq n \leq \frac{b}{4} \Rightarrow \frac{a}{3} \leq \frac{b}{4}$$

$$a \leq \frac{3}{4}b$$

$$\frac{b}{a} \leq \frac{4}{3} \Rightarrow \boxed{\frac{b}{a} \leq \frac{4}{3}}$$

✓ (2)

$$\frac{x+1}{|x+1|} \geq 0 \Rightarrow \frac{x+1}{x+1} \geq 0 \Rightarrow 1 \geq 0$$

$$[-1, 3) \cup (3, +\infty) \cap (-\infty, 6] \Rightarrow [-1, 6] - \{3\}$$

$$[2, 4] \geq 0 \Rightarrow x \in [2, +\infty)$$

$$[-x] \geq 0 \Rightarrow x \in (-\infty, 3)$$

(2)

الف) $\frac{(n-1)(n+1)}{(n-1)(n+1)(n+1)} \geq 0$ ✓

-1	-1	1	1	1	1
+	-	-	-	+	+

$(-\infty, -1) \cup (1, 1) \cup (1, \infty)$

ب) $\frac{(n-1)(n+1)(n+1)}{(n+1)(n+1)(n-1)} \geq 0$ ✓

(1)

-1	-1	-1	1	1	1
+	-	+	-	+	+

$(-\infty, -1) \cup [-1, -1] \cup [1, 1] \cup [1, \infty)$

ج) $[n] - 1 \geq 0 \rightarrow [n] \geq 1 \rightarrow n \in (-\infty, 1) \quad x \leq -1 \rightarrow D = (-\infty, -1)$ ✓

$([n] - 1)([n] + 1)$

$\Rightarrow (-\infty, -1) \cup [1, +\infty)$

$R = [-1, 1]$
 $\mathbb{R} = [-1, 1]$

$R = [-1, 0]$

$D = \mathbb{R} \setminus \{(-1, 1), [-1, 0]\}$

د) $\cot x \rightarrow k\pi$ تمرکز

$\tan x \rightarrow k\pi + \frac{\pi}{2}$ تمرکز

$\tan x + 1 \neq 0 \rightarrow k\pi + \frac{\pi}{2} \neq \tan x$

$R = \{k\pi, k\pi + \frac{\pi}{2}, k\pi + \frac{\pi}{2}\}$

هـ) $1 - \sin^2 x \geq 0 \rightarrow 1 \geq \sin^2 x \rightarrow 1 \geq |\sin x| \rightarrow 1 \geq \sin x \rightarrow 1 \geq \sin x$ ✓

$R = [k\pi - \frac{\pi}{2}, k\pi + \frac{\pi}{2}] \cup [k\pi + \frac{\pi}{2}, k\pi + \frac{\pi}{2}]$

و) $1 - \log \frac{n-1}{n} \geq 0 \Rightarrow \log \frac{n-1}{n} \leq 0 \Rightarrow \frac{n-1}{n} \leq 1 \Rightarrow n \geq 1$ ✓

ز) $n(n-1) \geq 0 \rightarrow$

0	1
+	-

 $\Rightarrow (-\infty, 0] \cup [1, +\infty)$

$n^2 - n \geq 0 \rightarrow n(n-1) \geq 0$

0	1
+	-

$\Rightarrow (-\infty, 0] \cup [1, +\infty) \setminus \{1, -1\}$

ح) $\frac{n-n^2}{n-1} \geq 0 \Rightarrow \frac{n-n^2}{n-1} \geq 0 \Rightarrow n-n^2 \geq 0 \Rightarrow 0 \geq n^2 - n \Rightarrow 0 \geq n(n-1)$ ✓

1	1
+	-

$\Rightarrow [1, 1]$

ط) $\frac{n+1}{n+1} \in W \Rightarrow n+1 \leq n+1 \Rightarrow n+1 \leq n+1$ ✓

(1)

$n - n^2 \leq 0 \Rightarrow n \leq n$

$n(n-1) \leq 0 \Rightarrow n \leq 1$

$n \leq \frac{n-1}{n-1} \Rightarrow \{n/n \mid \frac{n-1}{n-1} \in W\}$